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PART A: Grammar and Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer 
sheet. 

31- The little town is a long way from the nearest big city. …, there is a good bus service. 
1) For example 2) In this way 3) In fact 4) However  

32- The river was … I thought, so I decided to turn back.  
1) as deep 2) deeper than 3) much deeper 4) the deepest  

33- Don’t forget that we … go to the movies with our new …, Jack and Tom, this Wednesday. 
1) are going to – friend  2) will – friends 
3) will – friend  4) are going to – friends 

34- In the end, we … the results of the our study with those of other studies.      
1) compared 2) hired 3) crossed 4) collected 

35- There is always a/an … of danger in this job, and this is why the workers should be very careful. 
1) phrase 2) element 3) material 4) exercise 

36- Can you … what happened yesterday in detail to me and tell me who broke those two windows? 
1) describe 2) destroy 3) identify 4) talk 
PART B: Reading Comprehension 
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice 
on your answer sheet. 
Between the months of November and May, a wind blows from the west in most parts of Indonesia. 
It comes from the ocean and carries rain. Clouds build up around the mountains, and every 
afternoon rain falls. The rain is always heavy, and rivers which can be walked across in the dry 
season now become dangerous. When it rains the whole day, they may suddenly overflow and cause 
great damage to the land. 
    Most farmers are glad when the wet season begins. There is enough water for their fields and 
they can again start growing rice. But people in town are not so glad since the streets soon get 
muddy and dirty. They prefer the dry seasons when they can sit outside and enjoy the cool 
evenings. 

37- The reason why the rivers are very dangerous in the wet season is that … . 
1) the whole land may be damaged 
2) long periods of heavy rain make them full 
3) they dry up and cannot provide enough water 
4) they cannot be walked across as easily as before 

38- From the passage, it is understood that … . 
1) Indonesia is a dry country 2) few Indonesians prefer wet seasons 
3) heavy rain has no effect on rice 4) rice needs lots of water to grow 

39- The underlined word “they” in the first paragraph refers to … . 
1) farmers 2) clouds 3) rice fields 4) rivers 

40- Which of the following questions does NOT the passage answer? 
1) When is the wet season?  
2) When are the rivers safe to walk across? 
3) How much land is damaged in the wet season? 
4) Why are people in town not so happy? 
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PART C: Grammar and Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer 

sheet. 

41- John is quite tall, but his younger brother is taller. So, John is … . 

1) the tallest of all  2) not as tall as his brother 

3) as short as his brother 4) short 

42- The president has given people some … for the improvement in all aspects in the new year. 

1) courses  2) hopes 

3) shows  4) scars 

43- I didn’t … want any more sandwich, but Julia ordered another one for me in the small restaurant.  

1) wonderfully 2) actually 3) angrily 4) nationally 

44- A: Why did he come out of the manager’s room with a heavy …? 

    B: I don’t know what happened in that room. 

1) blood 2) wonder 3) heart 4) nature 

45- Don’t worry about me, I can … myself. I do not need anyone else to protect me. 

1) put out  2) take care of  

3) pay attention to  4) die out 

PART D: Cloze Test 
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice 

on your answer sheet. 

There are different wild animals in the jungle that are dangerous. The …(46)… of them is the lion. 

It is a very powerful animal that hunts and eats …(47)… animals than itself. The lion has a big and 

…(48)… body that can kill other animals. The lion is also very healthy because it always eats 

enough food to have enough power to live. It is a fact that the lion’s heart …(49)… blood all around 

its body so that it can remain powerful and live well. This …(50)… wild animal is often calm and 

quiet, but when it wants to hunt another animal, the lion runs very fast and kills other animals 

cruelly. 

46- 1) more dangerous 2) dangerous 3) most dangerous 4) dangerouser 

47- 1) more small 2) smaller 3) the smallest 4) smallest 

48- 1) strong 2) interesting 3) alive 4) dark 

49- 1) visits 2) pumps 3) keeps 4) finds 

50- 1) amazing 2) simple 3) kind 4) tall 
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